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Q1. 
  
Write the correct whole number in the box. 

5 miles is approximately  kilometres. 
1 mark 

Q2. 

          

The International Space Station orbits the Earth at a height of 250 miles. 

What is the height of the International Space Station in kilometres? 

Use 8 kilometres equals 5 miles. 

  
1 mark 

 
 

Q3. How many miles is 7km? 
Q4. How many km are in 9 miles? 
Q5. How many km are in 10 miles? 
Q6. How many miles are in 13km? 
Q7. How many km are in 19 miles? 
Q8. How many miles are in 72km? 
Q9. How many miles are in 36km? 
 
Q10. How many km are in 33 miles?
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Mark schemes 

Q1. 
8 

[1] 

Q2. 
400 

[1] 

Q3. 4.34 miles 

Q4. 14.4km 

Q5. 16 

Q6. 8.06 

Q7. 30.4 

Q8. 44.64 

Q9. 22.32 

Q10. 52.8 

 


